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@1t -C opt-level=3
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Table: ZE DB~ d(n) DR D&

logyo(n) n(n) i ¢()
1 g 32
2 25 3044
3 168 304192
4 1229 30397486
5 9592 3039650754
6 78498 303963552392
7 664579 30396356427242
8 5761455 3039635516365908
9 50847534 303963551173008414
10 455052511 30396355092886216366
1 4118054813 3039635509283386211140
12 37607912018 303963550927059804025910

13 346065536839 30396355092702898919527444
14 3204941750802 3039635509270144893910357854
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* Sum of Multiplicative Function / min-25

® https://min-25.hatenablog.com/
entrg/zwlg/ll/l1/172216(Webﬂrchive.org:ZOZ11009144526)

* min-25 sieve

® https://zhuanlan.zhihu.com/p/60378354

® https://oi-wiki.org/math/number-theory/min-25/
* A& (Zhouge sieve)

® http://debugl8.com/posts/calculate-

the-sum-of-multiplicative-function(web-archive.org:20190114044154)


https://web.archive.org/web/20211009144526/https://min-25.hatenablog.com/entry/2018/11/11/172216
https://web.archive.org/web/20211009144526/https://min-25.hatenablog.com/entry/2018/11/11/172216
https://zhuanlan.zhihu.com/p/60378354
https://oi-wiki.org/math/number-theory/min-25/
https://web.archive.org/web/20190114044154/http://debug18.com/posts/calculate-the-sum-of-multiplicative-function
https://web.archive.org/web/20190114044154/http://debug18.com/posts/calculate-the-sum-of-multiplicative-function

* the black algorithm / baihacker

® http://baihacker.github.io/main/2020/The_prefix-sum_
of multiplicative function_the black algorithm.html

* Nyaan’s Library
® https://nyaannyaan.github.io/library/multiplicative-function/
sum-of-multiplicative-function.hpp

® https://nyaannyaan.github.io/library/multiplicative-function/

prime-counting.hpp

® https://nyaannyaan.github.io/library/multiplicative-function/
prime-counting-o2d3.hpp

® https://nyaannyaan.github.io/library/multiplicative-function/

prime-counting-faster.hpp


http://baihacker.github.io/main/2020/The_prefix-sum_of_multiplicative_function_the_black_algorithm.html
http://baihacker.github.io/main/2020/The_prefix-sum_of_multiplicative_function_the_black_algorithm.html
https://nyaannyaan.github.io/library/multiplicative-function/sum-of-multiplicative-function.hpp
https://nyaannyaan.github.io/library/multiplicative-function/sum-of-multiplicative-function.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting-o2d3.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting-o2d3.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting-faster.hpp
https://nyaannyaan.github.io/library/multiplicative-function/prime-counting-faster.hpp

THEOBEK DI % O(n?/3/log(n)) time, O(y/N) space 5 L L

® https://blog.csdn.net/
whzzt/article/details/1®41®5®25(Web"““hi"“’rgzzon 1009144526)

BoFETY , d() % X% 0(n?/3) time / maspy
* https://maspypy.con/dirichlet- % v . #ARIK D R
* 7(n): the Meissel, Lehmer, Lagarias, Miller, Odlyzko method
» O(x%/3/1og(x)?) time, O(x'/3 log(x)> log(log(x))) space

® https://www.ams.org/journals/mcom/1996-65-213/
S0025-5718-96-00674-6/50025-5718-96-00674-6.pdf

EAYICBEREIATIY, 13V (5 0FTTEB5 Ly,

® https://github.com/kimwalisch/primecount



https://web.archive.org/web/20211009144526/https://blog.csdn.net/whzzt/article/details/104105025
https://web.archive.org/web/20211009144526/https://blog.csdn.net/whzzt/article/details/104105025
https://maspypy.com/dirichlet-%E7%A9%8D%E3%81%A8%E3%80%81%E6%95%B0%E8%AB%96%E9%96%A2%E6%95%B0%E3%81%AE%E7%B4%AF%E7%A9%8D%E5%92%8C
https://www.ams.org/journals/mcom/1996-65-213/S0025-5718-96-00674-6/S0025-5718-96-00674-6.pdf
https://www.ams.org/journals/mcom/1996-65-213/S0025-5718-96-00674-6/S0025-5718-96-00674-6.pdf
https://github.com/kimwalisch/primecount

Thank you!
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